



## Decomposition of 2-norms

Stela Çeno<sup>1</sup>, Gladiola Tigno<sup>2</sup>

<sup>1</sup>Department of Mathematics, Elbasan University, Albania

<sup>2</sup>Department of Mathematics, Elbasan University, Albania

### Abstract.

In this paper, after introducing the notion of asymmetric semi 2-norm and asymmetric 2-norm, we present the conjugate function of an asymmetric 2-norm. Then we give a decomposition of a 2-norm in two conjugated asymmetric 2-norms.

**Keywords:** Asymmetric semi 2-norm; conjugate function of an asymmetric 2-norm; decomposition of a 2-norm.

### 1. Introduction

In 1968 Duffin and Karlovitz [1] proposed the term asymmetric semi norm when the property of symmetry is not satisfied in a semi norm. Many classical results of the analysis have been extended to such non-symmetric spaces as in [2],[3].

Let first give the definition of the asymmetric 2-norm function.

**Definition1.1.** Let  $X$  be a vectorial space. The function  $\|.,.\|: X^2 \rightarrow R^+$  it is called the asymmetric 2-norm function if:

- 1)  $\|x, x\| \geq 0$  for  $\forall x \in X$  and  $\|x, x\| = 0 \Leftrightarrow x = 0$
- 2)  $\|x, y\| = \|y, x\|$  for  $x, y \in X$
- 3)  $\|\lambda x, y\| = \lambda \|x, y\|$  for  $\lambda > 0$  and  $x, y \in X$
- 4)  $\|x + y, z\| \leq \|x, z\| + \|y, z\|$  for  $x, y, z \in X$ .

The pair  $(X, \|.,.\|)$  is then called an asymmetric 2-normed space.

**Example1.2.** Let  $X = R$  and  $p(x): R \rightarrow R^+$  an asymmetric norm on  $R$ , (defined in [4]). For every two points  $x(x_1, x_2)$  and  $y(y_1, y_2)$  on  $R^2$  we remark:  $\|x, y\| = p(x_1)p(y_1) + p(x_2)p(y_2)$ .

**Claim1.3.** The function  $\|x, y\| = p(x_1)p(y_1) + p(x_2)p(y_2)$  is an asymmetric 2-norm function on  $R$ .

**Proof:**

- 1)  $\|x, x\| \geq 0$  for  $\forall x \in X$  and  $\|x, x\| = 0 \Leftrightarrow x = 0$   
 $\|x, x\| = p(x_1)p(x_1) + p(x_2)p(x_2) = p^2(x_1) + p^2(x_2) > 0$   
 $\|x, x\| = 0 \Leftrightarrow p^2(x_1) + p^2(x_2) = 0 \Leftrightarrow x_1 = x_2 = 0$  for  $\forall x \in X$ .
- 2)  $\|x, y\| = \|y, x\|$  for  $x, y \in X$   
 $\|x, y\| = p(x_1)p(y_1) + p(x_2)p(y_2) = p(y_1)p(x_1) + p(y_2)p(x_2) = \|y, x\|$

- 3)  $\|\lambda x, y\| = \lambda \|x, y\|$  for  $\lambda > 0$  and  $x, y \in X$   
 $\|\lambda x, y\| = p(\lambda x_1)p(y_1) + p(\lambda x_2)p(y_2) = \lambda [p(x_1)p(y_1) + p(x_2)p(y_2)] = \lambda \|x, y\|$
- 4)  $\|x + y, z\| \leq \|x, z\| + \|y, z\|$  for  $x, y, z \in X$   
 $\|x + y, z\| = p(x_1 + y_1)p(z_1) + p(x_2 + y_2)p(z_2) \leq [p(x_1) + p(y_1)]p(z_1) + [p(x_2) + p(y_2)]p(z_2) =$   
 $= p(x_1)p(z_1) + p(x_2)p(z_2) + p(y_1)p(z_1) + p(y_2)p(z_2) = \|x, z\| + \|y, z\|.$  ■

**Definition 1.4.** The function  $\sigma : X^2 \rightarrow R^+$  is called an asymmetric semi 2-norm if:

- 1)  $\sigma(x, y) = 0$  if  $x, y$  linearly dependent
- 2)  $\sigma(x, y) = \sigma(y, x)$  for every  $x, y \in X$
- 3)  $\sigma(\lambda x, y) = \lambda \sigma(x, y)$ , for  $\lambda > 0$
- 4)  $\sigma(x, y) = \sigma(x, y - x)$  for every  $x, y \in X$ .

The analogue definition of the semi 2-norm and 2-norm function is given in [4].

## 2. Main results

Now the conjugate of the asymmetric semi 2-norm function is defined by:

$$\bar{\sigma}(x, y) = \sigma(-x, -y), \quad x, y \in X.$$

The function  $\sigma^s : X^2 \rightarrow R^+$  given by:

$$\sigma^s(x, y) = \max \{ \sigma(x, y), \bar{\sigma}(x, y) \}, \quad x, y \in X$$

is an asymmetric semi 2-norm [5].

An asymmetric semi 2-norm  $\sigma$  on  $X^2$  is an asymmetric 2-norm if only if  $\sigma^s$  is a 2-norm on  $X$ .

**Definition 2.1.** If  $\|\cdot, \cdot\|$  is a 2-norm on and  $\sigma \neq \|\cdot, \cdot\|$  is an asymmetric 2-norm such that  $\sigma^s = \|\cdot, \cdot\|$  then the pair  $(\sigma, \sigma^s)$  is called a decomposition of the 2-norm  $\|\cdot, \cdot\|$ .

**Theorem 2.2.** Let  $(X^2, \|\cdot, \cdot\|)$  be an 2-normed space. For each  $f : X \rightarrow R$  linear function and each  $k \geq 1$  there exist a decomposition of  $\|\cdot, \cdot\|$ .

**Proof.** Given such  $f, k$ , we define  $\sigma_{f,k}(x, y) = \begin{cases} \|x, y\|, & f(x) \geq 0 \\ \frac{\|x, y\|}{k}, & f(x) < 0 \end{cases}$ .

Let's prove  $\sigma_{f,k}(x, y)$  is an asymmetric 2-norm.

- 1) It is clear that:  $\sigma_{f,k}(x, x) = \begin{cases} \|x, x\|, & f(x) \geq 0 \\ \frac{\|x, x\|}{k}, & f(x) < 0 \end{cases}$ . So  $\sigma_{f,k}(x, x) \geq 0$  and  $\sigma_{f,k}(x, x) = 0 \Leftrightarrow x = 0$ .

$$2) \quad \sigma_{f,k}(x, y) = \begin{cases} \|x, y\|, f(x) \geq 0 \\ \frac{\|x, y\|}{k}, f(x) < 0 \end{cases} = \begin{cases} \|y, x\|, f(x) \geq 0 \\ \frac{\|y, x\|}{k}, f(x) < 0 \end{cases} = \sigma_{f,k}(y, x).$$

3) For  $\lambda > 0$  we have:

$$\sigma_{f,k}(\lambda x, y) = \begin{cases} \|\lambda x, y\|, f(x) \geq 0 \\ \frac{\|\lambda x, y\|}{k}, f(x) < 0 \end{cases} = \begin{cases} \lambda \|x, y\|, f(x) \geq 0 \\ \frac{\lambda \|x, y\|}{k}, f(x) < 0 \end{cases} = \lambda \sigma_{f,k}(x, y).$$

4) For the triangle inequality we have 4 cases for  $x, y, z \in X$ .

**Case 1.** If  $f(x) \geq 0$  and  $f(y) \geq 0$  then:

$$\sigma_{f,k}(x+y, z) = \|x+y, z\| \leq \|x, z\| + \|y, z\| = \sigma_{f,k}(x, z) + \sigma_{f,k}(y, z).$$

**Case 2.** If  $f(x) < 0$  and  $f(y) < 0$  then:

$$\sigma_{f,k}(x+y, z) = \frac{\|x+y, z\|}{k} \leq \frac{\|x, z\| + \|y, z\|}{k} = \frac{\|x, z\|}{k} + \frac{\|y, z\|}{k} = \sigma_{f,k}(x, z) + \sigma_{f,k}(y, z).$$

**Case 3.** If  $f(x) \geq 0$  and  $f(y) < 0$ , in this case we have two possibilities:

1)  $f(x+y) \geq 0$ , then:

$$\begin{aligned} \sigma_{f,k}(x+y, z) &= \|x+y, z\| \leq \|x, z\| + \|y, z\| = \sigma_{f,k}(x, z) + k\sigma_{f,k}(y, z) \leq \\ &\leq k(\sigma_{f,k}(x, z) + \sigma_{f,k}(y, z)) = \sigma_{f,k}(x, z) + \sigma_{f,k}(y, z) \text{ for } k=1. \end{aligned}$$

2)  $f(x+y) < 0$ , then:

$$\sigma_{f,k}(x+y, z) = \frac{\|x+y, z\|}{k} \leq \frac{\|x, z\| + \|y, z\|}{k} \leq \|x, z\| + \frac{\|y, z\|}{k} = \sigma_{f,k}(x, z) + \sigma_{f,k}(y, z).$$

**Case 4.** If  $f(x) < 0$  and  $f(y) \geq 0$  is treated similarly to case 3.

Now it remains to prove that  $\sigma_{f,k}^s = \|\cdot, \cdot\|$ . In order to do this let us identify  $\bar{\sigma}_{f,k}$ :

$$\bar{\sigma}_{f,k}(x, y) = \sigma_{f,k}(-x, -y) = \begin{cases} \|-x, -y\|, f(-x) \geq 0 \\ \frac{\|-x, -y\|}{k}, f(-x) < 0 \end{cases} = \begin{cases} \|x, y\|, f(x) \leq 0 \\ \frac{\|x, y\|}{k}, f(x) > 0 \end{cases}$$

therefore:  $\sigma_{f,k}^s = \max\{\sigma_{f,k}(x, y), \bar{\sigma}_{f,k}(x, y)\} = \|x, y\|$ . ■

**Theorem 2.3.** Let  $(X^2, \|\cdot, \cdot\|)$  be an 2-normed space and  $f, g$  be functions as in Theorem 2.2 and  $k, l \geq 1$ . Then:

$$\sigma_{f,k} \equiv \sigma_{g,l}.$$

**Proof.** Let  $x, y \in X$  and assume  $k < l$ . By Theorem 2.2 there exist  $\sigma_{f,k}$  and  $\sigma_{g,l}$ .

**Case 1.** If  $f(x) \geq 0$  and  $g(x) \geq 0$ , then:

$$\sigma_{f,k}(x, y) = \|x, y\| = \sigma_{g,l}(x, y).$$

**Case 2.** If  $f(x) < 0$  and  $g(x) < 0$ , then:

$$\sigma_{f,k}(x, y) = \frac{\|x, y\|}{k} > \frac{\|x, y\|}{l} = \sigma_{g,l}(x, y).$$

**Case 3.** If  $f(x) \geq 0$  and  $g(x) < 0$ , then:

$$\sigma_{f,k}(x, y) = \|x, y\| > \frac{\|x, y\|}{l} = \sigma_{g,l}(x, y).$$

**Case 4.** If  $f(x) < 0$  and  $g(x) \geq 0$ , then:

$$\sigma_{f,k}(x, y) = \frac{\|x, y\|}{k} < \|x, y\| = \sigma_{g,l}(x, y).$$

So  $k\sigma_{f,k}(x, y)$  satisfies for cases 1,2 and 3 that  $k\sigma_{f,k}(x, y) \geq \sigma_{g,l}(x, y)$ , and case 4 that  $k\sigma_{f,k}(x, y) = \sigma_{g,l}(x, y)$ . Likewise  $l\sigma_{g,l}(x, y)$  satisfies for cases 1,2 and 4 that  $l\sigma_{g,l}(x, y) \geq \sigma_{f,k}(x, y)$  and case 3 that  $l\sigma_{g,l}(x, y) = \sigma_{f,k}(x, y)$ , i.e.  $k\sigma_{f,k}(x, y) \geq \sigma_{g,l}(x, y)$  and  $l\sigma_{g,l}(x, y) \geq \sigma_{f,k}(x, y)$  for all  $x \in X$ . This is  $\sigma_{f,k} \equiv \sigma_{g,l}$ . ■

## References

- [1] R.J. Duffin and L.A. Karlovitz, *Formulation of linear programs in analysis*. I. Approximation theory, SIAM J. Appl. Math. 16 (1968), 662-675.
- [2] L.M. Garsia-Raffi, *Compactness and finite dimension in asymmetric normed linear spaces*, Topology Appl. 153 (2005), 844-853.
- [3] S.Cobzas. Functional on Asymmetric Normed Spaces. *Springer Fronties in Mathematics, 2013. ISBN. 978-3-0348-0478-3*.
- [4] R.W.Freese and Y.I.Cho, *Geometry of Linear 2-normed Spaces*, 2001
- [5] J.M.Hernandez, C.H.Castaneda, L.C. Alvarez, V.Tochihuitl and R.Vazquez, *Decomposition of metrics and norms*, GJMMS, ISSN 0972-9836, Vol.6, Nr. 1 (2016), pp.1-9.